VF 30A..P VF 30F..P

s A.N.V VF 30
i@ F.P M wm 2 | N N Nz s | ﬁ
e | VF30P56B5 | o 10.4 =

HB
M N Na
b 3 120 100 80 7 i i
N ) VF30P63B5 | 11 12.8 4 140 115 95 8 95 11
.| VF30 P63B14 | 11 12.8 4 90 75 60 6 | 55




A.N.V -

F.FA.P ™M Ms Mz N N | N2 N3 N4 ﬁ

VF44 P63 B5 1 128 | 4 140 115 95 10 95 |
| VF44PTIBS 14 16.3 5 160 130|110 10 95 | 5p
| VF44 P63IB14 1 128 | 4 90 75 | 60 | 8 5.5

VF 44 P71B14 14 63 | & 105 85 70 10 7




VF 49A..P VF 49F..P




VF 63A..P

1 ."
o am

A.N.V VF 63

F.FC.P | m | m | ®m | N ™ N N N @&
| _VFE3PTIBS | 14 16.3 5 160 130 110 12 | 95

VF 63 P 80 B5 19 218 8 200 165 130 135 | 18

VF 63 P 90 BS 24 273 8 200 165 130 135 | 16 6

VF63 P71B14 14 16.3 5 105 85 70 15 6.5

VF 63 P 80B14 19 218 8 120 100 80 10 8.5

VF 63 P90B14 24 273 8 140 115 95 13.5 85




VF 72A..P VF 72F..P

VF 72 P 71 BS 14 16.3
VF 72_P 80 BS 19 218

R ik A.N.V.F VF72
Z’ﬂ@@i FC.FCR.P | 4 | m "I I R R
e N

VF 72 P 90 BS 24 27.3 200 165 130 12 15 | 45

VF 72 P 100 BS 28 | 313 | 250 215 180 13 135 | &
__VF72 P8OB14 19 218 120 100 | 80 10 7

VF 72 P90 B14 24 27.3 140 115 95 10 9

@ |@ @ |0 | (o |en *

VF 72 P 100 B14 28 | 313




VFR 86A..P

VFR 86F..P

10 Hs
A-N-V-F VFR 86 ]
g FC-FRP |y [ m [ w | N | M| % » | ~ M@
sl VFR86 P 71B5 14K6 | 163 5 10 | 130 | 10 | 12 [mBx20|
-~ N VFR86_P 80 BS 19K6 | 218 6 200 | 165 | 130 12 |M10x25| 23
Mz2us VFR86 P 90 BS 2406 | 25.1# 8 200 165 130 12 |M10x25]
T # R
/4 \ Lowered key
£ tH :
e
i




VF 110A..P VF 110F..P

&'[._’.E’_.P_.,l 1.
|
-7 £y
L __El |
- _f'|§1
B
| N\ 7
A%Ta
m -

VF 110FC (FR)..P

55 ~ ﬁ_*i.

i A.N.V.F VF 110
FC.FR.P M M M N Nt Nz N N ﬁ
e VF 110 P 80 BS 18 | 218 | & 200 | 165 | 130 | 10 | 118
VF 110_P 90 B5 24 27.3 8 200 | 185 | 130 10 1.5
S ve VF110P100B5 | 23 | 313 8 250 | 215 | 180 13 135
) VF110 P112B5 | 28 31.3 8 250 | 215 | 180 13 135 | 325
VF 110 P 80 B14 19 21.8 6 120 100 80 10 7
/ VF110PO0B14 | 24 | 273 8 140 115 95 10 9
HIESEE » VF110 P100B14 | 28 313 8 160 130 110 12 9
t i VF110P112B14 |28 | 313 | 8 160 | 130 | 110 | 12 9
NI
Mg




VF 130A..P VF 130F..P

A.N.V.F VF 130 M
FC.FA.P wm wm ™ | N Moo | N N A

VF 130_P 90 B5 24 | 273 8 | 200 | 165 | 130 17 n_
| VF 130_P 100 BS 28 313 8 250 | 215 180 17 EN
VF130P112B5 | 28 3.3 8 250 215 180 17 13

VF130 P132BS 38 40.1# 10 | 300 265 230 17 13

# Wit

Lowered key




VF 150F..P

VF 150
MOoWm MmN M N N N
VF 150_P 100 BS 28 313 8 250 | 215 | 180 | 13
VF 150_P 112 B5 28 313 8 250 | 215 | 180 n | 13 -
VF 150 P 132 B5 38 413 10 300 | 265 230 16 | 13
VF 150_P 160 B5 42 | 4dst | 12 350 300 250 18 | 118
# W
Lowered key




VF_HS

VF_A..HS VF_N..HS

i i #houtput shaft 4 A\ $diInput shaft

VF_V..HS VF_FA/FC/FCR/FR/F..HS VF_P..HS
LI
ik

%?e 'y B B1 -] F F F2 F3 F4 G v ﬁ

VF 30_HS 30 14 163 5 9 10.2 3 20 50 1.1
VF 44_HS 446 18 208 8 11 125 4 30 54 72 - 20
| vF a9 Hs 49.5 25 283 8 16 18 5 40 65 82 | mexie | 30
VF 63_HS 6217 | 25 283 8 18 205 6 45 80 100 | M6x16 | 60
VF 72_HS 72 | 28(30) [31.3(333)| 8 19 215 6 40 98 115 | Méx16 | 82
VF 86_HS 86.9 35 38.3 10 25 28 8 50 10 | 142 | MBx20 | 163
VF 110_HS 110.1 42 453 12 25 28 8 60 138 | 170 | M8x20 | 33
VF 130_HS 130 45 488 14 30 33 8 60 160 | 195 | M8x20 | 49
VF 150_HS 150 50 538 14 35 38 10 65 185 | 220 | M8x20 | 60




VF- VFR- VF/VFfi{f ACCESSORIES VF - VFR - VF/VF

P et Single output shaft
F2 zs D F1F2 | v
L  Twe c E M| NV
! S u = IVF30 |30 [ 14 (35 5 | 16 | 61 9 | M5x13
: == :}" 2 IVF-VFR44 | 40 | 18 |45 | 6 [205| 70 | 115  MBx16 |
z T hs & t IVF-VFR49 | 60 | 25 | 65 | 8 | 28 | 89 | 154  MBx20 |
Lv 1 e | IVF-VFR63 | 60 | 25 | 65 8 | 28 | 127 | 192 | M8x20 |
€ IVF-VFR72 | 60 | 28 | 70 | 8 [ 31 [ 126 | 196 | M8x20
™M L E | VF-VFR72 | 60 | 30 | 70 | 8 | 33 | 126 19 |
N [VF-VFR86 | 60 | 35 | 65 | 10 | 38 | 149 214  M10x25 |
o [VF-VFR110 | 75 | 42 | 80 | 12 | 45 | 164 244 M1
[VF-VFR430 | B0 | 45 | 85 | 14 485 176 w
|VF-VFR150 | 85 | 50 | 93 | 14 |535] 185 | 278 M16x40 |
¥ 15146 % Double output shaft
cl o E|F F1F2 1L v
30 | 14 |325] 55 | 5 | 16 | 120 | Msx13 |
: 40 | 18 [427| 64 | 6 | 205(149.4] MBx16 |
_. [ 60 | 25 [632] B2 | 8 | 28 |208.4] M8x20
I |60 | 25 [632] 120 | 8 | 28 [2464  M8x20
| | 60 | 28 | 635|120 | 8 | 31 | 247 | M8x20
60 | 30 |635[120| 8 | 33 [ 247 | mex20
| 35 | 64| 140 | 10 | 38 | 268 | M10x25
75 | 42 |79.25 155 | 12 | 45 |3135 M12x32|
|VF-VFR130 80 | 45 |84.75| 165 | 14 | 485 |334.5| M12x32
|VE-VFR150 | 85 | 50 | 90 | 175 | 14 | 535 355 | M16x40
#¥iEE A VF_P. Torque arm for VF_P,
VFR_P,VF/VF_P # VFR_P, VF/VF_P version
: H "
; | R
wa QI VRS —F ﬂ;_ 7z :}
| =] =
L}
L VF 30P,V 44P,VF 49P VF 63P - VF 150P
Fo B L 3 5 6 4 e ekt
VF 30P,V 44P,VF 49P
c Without anti vibration rubber bushing
%fe A B c D E F G = 1
VF 30F 100 40 1575 50 65 7 14 a8 4
VFVFR 44P 100 40 167.5 50 65 7 14 a8 4
VF-VFR 498 100 55 1725 68 94 T 14 8 4
VFVFR 63F 150 55 233 75 90 9 20 10 6
VFVFR 72P 200 63 300 20 110 9 25 20 6
VF-VFR B6F 200 B0 318 110 130 " 25 20 6
VFAVFR 1108 250 100 388 130 165 13 25 20 6
VFVFR 1308 300 125 470 180 215 13 30 25 6
VFVFR 1508 300 125 470 180 215 15 30 25 (]




	VF30
	VF44
	VF49
	VF63
	VF72
	VF86
	VF110
	VF130
	VF150
	VF输入轴尺寸
	扭力臂和出轴尺寸

